Hazardsm_Mena_Kurs

VARCHAR?2 (50)
VARCHAR?2 (50)
VARCHAR?2 (1) B.Z
BINARY_DOUBLE
VARCHAR?2 (3)

DATE

= Hazardsm_Kurs_Meny PK (IDZaznamMenaKurs)

Eﬁ Hazardsm_Kurs_Meny_Hazardsm_Misto_FK (IDMisto)

Hazardsm_Prostredek

VARCHAR? (50)
VARCHAR? (50)
VARCHAR? (50)
VARCHAR?2 (1) 0,1,2
VARCHAR?2 (3)
BINARY_DOUBLE
BINARY_DOUBLE

Eﬁ Hazardsm_Prostredek_Hazardsm_Pokladna_Stul_Turnaj_Bingo_FK (IDZaznamPSTB, IDPSTB)

Hazardsm_Misto
P * IDMisto VARCHAR?2 (50)
MistoNazev VARCHAR?2 (250) P * IDZaznamMenaKurs
F * IDProvozovatel VARCHAR?2 (20) F * IDMisto
GPSX BINARY_DOUBLE HraDruh
GPSY BINARY_DOUBLE KursVyse
> Ulice VARCHAR?2 (250) <4< MenaKod
CP INTEGER Datum
co VARCHAR2 (10)
Hazardsm_Provozovatel cesitliee VARCHAR2 (250}
= PSC INTEGER
P * IDProvozovatel VARCHAR?2 (20) Obec VARCHAR?2 (250)
ProvozovatelNazev VARCHAR?2 (250) <_|< Obvod INTEGER
&= Hazardsm_Provozovatel_PK (IDProvozovatel) Kraj VARCHARZ (3)
SidloKodRuian INTEGER
-+ A = Hazardsm_Misto_PK (IDMisto)
Hazardsm_Mozna_Vyhra_Pro_Hru Eﬁ Hazardsm_Misto_Hazardsm_Provozovatel_FK (IDProvozovatel) N
P * IDMoznaVyhraProHru VARCHAR?2 (50) F * IDZaznamPSTB
F * IDHra VARCHAR?2 (50) E * IDPSTRB
F * IDMisto VARCHAR2 (50) N A Prostredek
MoznaVyhraProHruVysePocatek BINARY_DOUBLE , MenaKod
MoznaVyhruProHruVyseKonec BINARY_ DOUBLE FrerEreem_EEEnes [Her StavVysePocatek
MenaKod VARCHAR?2 (3) P * IDHra VARCHARZ (50) StavVyseKonec
Datum DATE F * IDProvozovatel VARCHAR?2 (20)
HraNazev VARCHAR? (250) z= Pokladna_PK (IDZaznamProstredek)
= Hazardsm_Sumy Den_Hra_PK (IDMoznaVyhraProHru) >|—> HraDruh VARCHAR? (1) B.Z
Eﬁ Hazardsm_Sumy_Den_Hra_Hazardsm_E\./idence_Her_.FK (IDHra) & Hazardsm_Evidence_Her PK (IDHra)
Eﬁ Hazardsm_Sumy_Den_Hra_Hazardsm_Misto_FK (IDMisto)
EE Hazardsm_Evidence_Her_Hazardsm_Provozovatel_FK (IDProvozovatel) Y

f
x £

Hazardsm_Mozna_Vyhra_Stul_Bingo

Hazardsm_Pokladna_Stul_Turnaj_Bingo

P * IDMoznaVyhra
F * IDZaznamPSTB

VARCHAR2 (50)
VARCHAR2 (50)

F * IDPSTB VARCHAR?2 (50)
MoznaVyhraNazev VARCHAR?2 (250)
MoznaVyhraVysePocatek BINARY_DOUBLE
MoznaVyhraVyseKonec BINARY_DOUBLE
MenaKod VARCHAR?2 (3)

P * IDZaznamPSTB VARCHAR?2 (50)

= Hazardsm_Mozna_Vyhra_PK (IDMoznaVyhra)

P * IDPSTB VARCHAR?2 (50)
PokladnaStulTurnajBingo VARCHAR?2 (1) P,ST,B
F * IDmisto VARCHAR?2 (50)
F  IDHra VARCHAR?2 (50)
: > CistyHerniVysledek BINARY_DOUBLE
MenaKod VARCHAR?2 (3)
ProvozOd TIMESTAMP WITH TIME ZONE
ProvozDo TIMESTAMP WITH TIME ZONE

Eﬁ Hazardsm_Mozna_ Vyhra Hazardsm_Pokladna_Stul_Turnaj_Bingo FK (IDZaznamPSTB, IDPSTB)

= Hazardsm_Pokladna_Stul_Turnaj_Bingo PK (IDZaznamPSTB, IDPSTB)

Eﬁ Hazardsm_Pokladna_Stul_Turnaj_Bingo_Hazardsm_Evidence_Her_FK (IDHra)

EE Hazardsm_Pokladna_Stul_Turnaj_Bingo_Hazardsm_Misto_FK (IDmisto)

!

Hazardsm_Hra Turnaj_Bingo

P * IDJednaHraCastTurnaje

F * IDZaznamPSTB

F * IDPSTB
OznaceniTurnaj
ZahajeniCas
UkonceniCas

VARCHAR?2 (50)

VARCHAR? (50)

VARCHAR?2 (50)

VARCHAR?2 (250)

TIMESTAMP WITH TIME ZONE
TIMESTAMP WITH TIME ZONE

TurnajPocetHracu
TurnajVkladyPredZahajenimVyse

UhrnSazkyVyse BINARY_DOUBLE
UhrnDoprovodnaPIneniVyse BINARY_DOUBLE
UhrnVyhryVyse BINARY_DOUBLE
UhrnVracenaDoprovodnaPIneniVyse BINARY_DOUBLE
UhrnVraceneSazkyVyse BINARY_DOUBLE
HraOmezeniVkladu VARCHAR?2 (250)
PovinnyVkladVyse VARCHAR?2 (250)
MenaKod VARCHARZ2 (3)

INTEGER
BINARY_DOUBLE

= Hazardsm_Hra_Turnaj_Bingo_PK (IDJednaHraCastTurnaje)

Eﬁ Hazardsm_Hra_Turnaj_Bingo_Hazardsm_Pokladna_Stul_Turnaj_Bingo_FK (IDZaznamPSTB, IDPSTB)

Hazardsm_PSTB_Transakce

P * IDTransakce

F * IDPSTB
TypTransakce

MenaKod

F * IDZaznamPSTB

TransakceVyse

TransakceZpusob

VARCHAR?2 (50)
VARCHAR? (50)
VARCHAR? (50)
VARCHAR? (2)
BINARY_DOUBLE
VARCHAR? (3)
VARCHAR?2 (1) 0,1

= Hazardsm_PSTB_Transakce PK (IDTransakce)

Eﬁ Hazardsm_PSTB_Transakce _Hazardsm_Pokladna_Stul Turnaj_Bingo_FK (IDZaznamPSTB, IDPSTB)




